Name: AB 06 Umrechnungen Datum:

Neue Aufgabenblitter erstellen > EI _-FIZE

Aufgabe 1
a) 84 g =
b) 97.7 kg = mg
c) 1.757 dm = m
d) 510 mm = dm
e) 1400 mg = kg
Aufgabe 2
a) 72 dm = km
b) 39.9 Pups = cPups
c) 4.41 kg = g
d) 980 cl — ml
e) 2900 dPups = hPups
Aufgabe 3
a) 24 dm = cm
b) 86.1 mm = dm
c) 6.755 cl = |
d) 420 hPups = cPups
e) 1300 mm = cm
Aufgabe 4
a) 80 mPups = cPups
b) 18.2 g = kg
c) T7.474 kg = mg
d) 800 cl = |
e) 1600 kg = g
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Name:

AB 06 Umrechnungen

Datum:

Losungen Aufgabe 1

a) B84 g = 84000 mg
b) 97.7 kg = 97700000 mg
c) 1.757 dm = 01757 m
d) 510 mm = 5.1 dm
e) 1400 mg = 0.0014 kg
Lésungen Aufgabe 2

a) T2 dm = 0.0072 km
b) 39.9 Pups = 3990 cPups
c) 441 kg = 4410 g

d) 980 — 9800 ml
e) 2900 dPups = 2.9 hPups
Losungen Aufgabe 3

a) 24 dm = 240 cm
b) 86.1 mm = 0.861 dm
c) 6.755 cl = 0.06755 |

d) 420 hPups = 4200000 cPups
e) 1300 mm = 130 cm
dsungen Aufgabe 4

a) 80 mPups = 8 cPups
b) 18.2 g — 0.0182 ke
c) TAT4 kg = 7474000 mg
d) 800 cl — 8 |

e) 1600 kg = 1600000 .
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